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201 YEr2gY| 4,000 0 4,000
= 1,185
Al 2,815
02 T2l 4,000 0 4,000
O3. AL ZHIR K] 4,000
SHASE AD Y L AL RNES
2,000, 00024 *2JH 2 4,000
= 1,185
Al 2,815
206 T 2t 5,600 15,330 29,730
= 1,659
Al 3,941
01 HEH] 5,600 15,330 £9,730
OS2 AYAXTRH X P
5,600,000 5,600
= 1,659
Al 3,941
405 Xt &HE St 8,400 0 8,400
= 2,489
Al 5,911
01 ML SEF SH) 8,400 0 8,400
OH+S= AYIELY FH 2L 8,400
-AED(RESHIAIS D) 4,000,0008%10H%20H 2 8,000
= 2,371
Al 5,629
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SN R
HH: SAAMAAS (SYHYSM/SY - 55)
Sl RASASYMTIR (ol &2
SM-EH . C(BH) - HRAY - B2 O] Ak 4 gggf; HRE2
402 212 XH2 01 & 176,000 193, 150 A17,150
01 QX=X 176,000 193,150 A17,150
OBZYH MAXY b HHE SSYUH 2
s 25 176,000
- S A 40,000& *1,600ha 64,000
-& Al 70,000& *1,600ha 112,000
HEISEXA(EX) 12,385 1,524 10,861
= 421
Al 11,964
402 212 XH2 01 & 12,385 1,524 10,861
& 421
Al 11,964
01 QX=X 12,385 1,524 10,861
OHsSRa4sHHAE 12,385
“HERIY HEXY
10,000, 000& *2JH 2~ 60/ 100 12,000
= 305
Al 1,695
-HASHZHIHE XA 550 *1,0000H70/100 385
& 116
Al 269
EQMEHISME(EXR) 194,476 194,085 391
= 136, 133
Al 58,343
402 212X+ 01 & 194,476 194,085 201
2 136, 133
Al 58,343
01 QX=X 194,476 194,085 391
OEZHNEN 5= 194,476,000& 194,476
= 136, 133
Al 58,343
siolg2elX(EX) 16,590 17,150 A 560
Il 16,590
101 @12 dl 15,890 17,150 A 1,260
Il 15,890
04 JIZtHIZ22XNHSE+ 15,890 17,150 A 1,260
OsXolzael | 15,890,000& 15,890
Il 15,890
202 (44l 700 0 700
| 700
01 2UHOIH| 700 0 700
OsXoI8RALD X0 700, 0002 700
Il 700
SIIHAHSHAHYRNN A (LF) 3,200 6,000 A2,800
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2AM: RGN
M sgIFMELG(sHMNL>M/sY - =)
SR RS MHAXA (&9 HM
_ ) _ pofEN
2N -3 - c2(3H) - NEME - HES 0] AFCH ‘Oﬂ/i\_Fo” Hns
= 960
Al 2,240
206 M= Hl 3,200 6,000 A2,800
& 960
Al 2,240
01 i &4l 3,200 6,000 2,800
OsJlHotd 2 M AXI X 40,0003 *80M 3,200
= 960
Al 2,240
SUNMAEY|I KR (EX) 8,000 0 8,000
& 2,400
Al 5,600
206 M= Hl 8,000 0 8,000
= 2,400
Al 5,600
01 i &4l 8,000 0 8,000
S LOLMEHI K& 40,000& 2004 8,000
== 2,400
Al 5,600
SSMAD| IR S 2,009,529 3,914,960 1,905,431
= 1,200
< 176,900
w 20,000
Al 1,811,429
SHMAD|BIX NS 1,362,277 773,029 589,248
imi 20,000
Al 1,342,277
201 B2 H| 22,712 15,172 7,540
01 At 22|l 22,712 15,172 7,540
O1.¢8t=2H| 13,940
-SgI|BRMHAIY 2Bt+2H| 3,000,000 3,000
SR 2ECHXE2E & HSH+2
300, 000& x20&! X| 6,000
-SJI0ld =2 3,400, 000& 3,400
—SYE LUAE SEAA
110, 000& * 144 A~ 1,540
O5.2 &l 2,772
ML REE OF2A2 2 SA
7,000& x3F x11 =12 2,772
O6.4xt = 6,000
—=AD|BHAlA FEH|(EAF 2UHIS2)RH LIt
400, 000& *3H A x5 6,000
202 044l 2,880 2,880 0
01 2 2,880 2,880 0
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SN SRAAT
HE: SOABAAS (SYHS /S5 - 5E)
ol SO M AU E A (S5l &2
_ _ _ N E
SN FHH S (3H) - HREAY - BES Ofl &+ 04 Gl o B2
SEEETSEEESIGT]
60,0002 423 x32 x43] 2,880
401 Al EBIL 20 HI 1,286,685 704,977 561,708
01 Al&H] 1,282,000 700,000 582,000
O#2IAIM JH24(PO0L) 50,000,000 14! 50,000
OPEE mU2l =2 TZZAHL=120n)
40,000, 0002 *14! 40,000
OIS AN T42 L 52T A (L=400m,
B=3n) 100,000, 0002 14! 100,000
ORHES 28022 T42 HXZA
65,000, 0002 *14! 65,000
O™ X2l 52 A0 &XBAHL=10n8
=5m) 70,000, 0002 *14! 70,000
OSoh 212l LURY LXZM
70,000, 0002 *14! 70,000
OS8l 2202l S2EITA
70,000, 0002 * 14! 70,000
ORI HA22| 52 FHTAHL=300n)
50,000, 0002 *14! 50,000
ORI A2l =2 L& AHL=300)
50,000, 0002 *14! 50,000
ORI goH2l T2 LXTA
30,000, 0002 *14! 30,000
ORI 2H22| T42 MXBA
50,000, 0002 * 14! 50,000
O/IIY 242 52 TRBA
30,000, 0002 *14! 30,000
OB HEIR(Z2T) 52 THTA
30,000, 0002 *14! 30,000
OFIH LA2I(MTHE) 52 ZEISA
30,000, 0002 *14! 30,000
OFIIH =He|(F4) 52 TFZA
30,000, 0002 * 14! 30,000
ORI a2l To2 HXBA
50,000, 0002 *14! 50,000
OS0I1RM 20H2| 52T AHL=500n)
50,000, 0002 *14! 50,000
OEFENT ARRB2MNY BOFLTAHL=6.5
km) 200,000, 0002 *14! 200,000
Os8 AVBE Ksis HBEA
2,000,0002 *862 172,000
OBXNZ D/BRESY 25,000, 0002 *14! 25,000
OSMAIBIEL AR AAEKHE
20,000, 0002 *14! 20,000
03 Al& 2 THHI 4,685 4,977 ~292
OSMAIIBHE S AR AlS 2O
937,000,000 x0.50/ 100 4,685
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SH: R
HE: SOABAAS (SYHS /S5 - 5E)
SRl S M AD|B R (e @
_ _ _ N E
SA-BH.C(BH) - HRAY - B 0ff &+ o4 Gil it o Rz
402 Q12 XHZ 0| & 50,000 50,000 0
I} 20,000
Al 30,000
01 IR R E 50,000 50,000 0
O%2IH42lAlE X 221(012)
50,000, 0002 50,000
I} 20,000
Al 30,000
BHYALIHH(EF) 53,000 47,000 6,000
= 5,800
Al 47,200
206 T 2 bl 53,000 47,000 6,000
= 5,800
Al 47,200
01 T2 bl 53,000 47,000 6,000
OBE U %4I| MUl 6,625,002 8HSHE 53,000
= 5,800
Al 47,200
Wl 02 e S 42l A& FH| (2X) 364, 560 478,906 A 114,346
= 105,200
Al 259,360
401 A& HIL 2 TH | 364,560 477,142 A112,582
= 105,200
Al 259,360
01 Al &bl 362,530 473,830 £ 111,300
OTHEN O & e 222l Al F B AL A & ]
350,000,0002 358/ 100 2,530
ORERE &Fel BHH4Z2 FHIZ AHL=250m)
100,000,0002! 14! 100,000
= 30,000
Al 70,000
OREE B2l SHH4ZE FUIZ AH(L=300m)
150,000, 0002 * 14! 150,000
= 45,200
Al 104,800
OJIS Otelel BHH42 FHIZ AHL=150m)
100,000, 0002 * 14! 100,000
= 30,000
Al 70,000
03 Al& S CHH| 2,030 3,312 A1,282
OTHBHOI & e B2l Al H B Al & S HY|
350,000,0002!+0.58/ 100 2,030
CSAYMEN T (B X) 219,492 151,028 68,464
= 63,000
Al 156,492
401 Al EHIL 2O HI 219,492 151,028 68,464
= 63,000

_40_




SN YPAYD
I SABAAS (SUHYS/ Y - S&)
Sl MM BEY (el &
i _ . rSJEL== -
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRs2
Al 156,492
01 A& HI 218,274 149,990 68,284
OLSABHEXIFLIAY & AISH Y|
210,000,0002 *3.94/100 8,274
OTBES 4S2 45X HELBA
30,000,000& * 14! 30,000
& 9,000
Al 21,000
OLYS el ARX H2LTAM
150,000, 000& » 14 150,000
= 45,000
Al 105,000
ORI BE2l A2X HBLZAM
30,000,000 =14 30,000
= 9,000
Al 21,000
03 Al 2 0Hd| 1,218 1,038 180
OLSABHEXBLIAY A& LY
210,000,000% *0.58/100 1,218
MNe=X M (EX) 9,000 8,000 1,000
& 2,900
Al 6,100
401 A& HIS 2 CHYI 9,000 8,000 1,000
& 2,900
Al 6,100
01 Al&H] 9,000 8,000 1,000
OM=XHMZHdl 9,000, 000& * 14 9,000
= 2,900
Al 6,100
SRMAAHEMESEIIXNA(EE) 1,200 2,700 A 1,500
2 1,200
201 Bt2 Al 900 2,400 A 1,500
= 900
01 A2 22l 900 2,400 21,500
O1. go+8H| 900
-FAEEsrE 300, 000& »32] 900
= 900
202 44| 300 300 0
= 300
01 =2 A b 300 300 0
OZSTA MEHZAN FT O]
20,0003 x1H 15 300
= 300
A AMAY S (SHHL /LY - AE) 5,508,652 6,011,347 AB07,695
= 1,494,517
z 25,384
& 387,337
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SN YRAYD
HE: AAMAUS (SYHLSA/LY - HE)
el MR (9l &2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o HRs2
Al 3,596,414
A TR 2e 2,454,794 3,341,656 A 886,862
= 997,075
& 25,384
& 242,167
Al 1,190, 168
SME TS X2 622,457 680,434 ABT,977
101 @124 | 54,798 56,800 A2,002
04 JI1tH22HSE+ 54,798 56,800 A2,002
OAZ =XAE 2&He oAy
54,5003 x3H 203 3,270
OJ}24 JISB2I Q12|
54,500 x3H x5 x103] 8,175
OJt=sier HOIRI| eIy
54,500 x5F 7L +33] 5,723
OXF4+2 Yols ASLH L SLHHS0E
jelal=] 54,5003 *3H x7 L x4 3| 4,578
OREZASAMAXE 1214
54,5003 x2H x602 6,540
O£IIPILUS OSH HEE AURSNE
Q1 244l 54,500 x5 H x4 *23] 2,180
OSHUBMS DA (2526 ) 22l 22|
36, 80021 %1% %1502! 5,520
OS0I2 H2NMX 25 L el 22y
36,800 x1H+602! 2,208
OIS HEOF=SDA MEZY 212AY)
36,8003 x3H 100 11,040
O4UEE JI12R2E3 49,234,000& *11.3% 5,564
201 ZEt2FH| 27,944 27,574 370
01 AtR 22| b 19,719 19,519 200
O1. L8| 5,945
=X JlEt+=EH| 5,000, 000& 5,000
“SHAYHS D DEAZA HE o
10,0002 x| 200
~SHAMYAS DY AT HUBEE
200,000& *12] 200
OlR4 MSEZY F0TY YAANE 242
36,3003 x 1521 545
O5. =&l 3,024
~=XAIEBE OFRI2SR 24
7,000 x3B «122 x 128 3,024
06.2x = 10,750
-RETASAMY L BA2ATH BHLX
S Xz 250,000 1 CH 8L »23] 4,000
JlR4 S SAAL SHYK 24 YX
= 250,000 *1CH x5 *33] 3,750
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SA: PR
B UAAMAUS (YN LYY - ME)
el ATt el (=BT
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
301 LEtEAZ 1,050 1,050 0
10 AR HIEA 2 1,050 1,050 0
O=sXZe|adH A 24 7,000& *150H 1,050
401 AlEHI L 21| 494,895 553,240 N\58,345
01 Al&HI 492,000 550,000 58,000
OAE =XQAE HHI(0149 25)
50,000,000& » 14! 50,000
OFeEad Z2FIiz 24
20,000,000& * 14! 20,000
Ot == E8HIAIY 50,000,000& * 14! 50,000
OJtgsts ¥ =X0 SA22| 80,000
808 =XAE Hxz&eY 10,000, 000& 23| 20,000
-S89 JIZ23E 2 =X &CI2D]
10,000,000& *23| 20,000
S0 SNALE ZPAS W
20,000,000& 23] 40,000
OJlgstl| £ EZd3H Jizsd s 40,000
SHADC N2 MKSAIA
20,000,000 * 14! 20,000
-0l 2t X ol F Jlgx B4
20,000,000 =14 20,000
O&E2H NECE IIRIIAY 20,000
=5 ANE2% RYsA 0t=D|
20,000,000 =14/ 20,000
OE AIEZ2 FHUIAIY 20,000,000 * 14! 20,000
OMNKOI#AF L= HUIAFE 20,000,000 * 14! 20,000
Osdi~z0l=2 & ZHJ| 20,000,000& » 1A 20,000
OZgUES: TEX 22 =4
20,000,000 *1A! 20,000
OS50/ ofiotH SHSAT & BESAIE
20,000,000 =14/ 20,000
OSHaEMERY PEE AT
20,000,000& » 14! 20,000
O=0l= At=20lol Xl & XH 40,000,000& x 14! 40,000
OASXW RSl X =4 30,000,000 14! 30,000
OHFI| AtMOIES &Y Z JRI| ALY
20,000, 000& » 14! 20,000
OZAN =3 LAY (SL220 EXAY) &
A& A Y| 22,000,000& » 14! 22,000
03 AIE 20| 2,895 3,240 N 345
O=sXEZZAY AE20|
499,020,000& *0.58/100 2,895
405 KHAHFE S| 2,800 800 2,000
01 ML Z2SFHSHI 2,800 800 2,000
Qo= ¢ 500,000& *2CH 1,000
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SN R D
HE: AAMAUS (SYHLSA/LY - HE)
el MR (Sl #)
_ _ HE T
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 il b o HRE2
OJIAs ¢ 900, 0003 +2CH 1,800
ZRIIMNGE(BEX) 1,591,453 1,976,709 A 385,256
= 895,457
& 209,159
Al 486,837
101 @124 H| 177,009 350,510 A173,501
= 106,204
& 21,240
Al 49,565
04 JIZHNIZ22XRHSE+ 177,009 350,510 A173,501
OLEIHIOI QAR B E oIy
142,185,000 142,185
= 96,093
& 19,218
Al 26,874
Oz=ItRI1 A XZAE Q12| 16,852,000& 16,852
= 10,111
= 2,022
Al 4,719
O4EE JI22E3 159,037,000& *11.3% 17,972
201 et A | 9,421 18,343 A8,922
2 5,563
= 1,230
Al 2,628
01 AtR2tel 7,209 12,023 N4,814
O4.T1=H| 1,800
~AFRIHIOIQOHA £FE 1=y 1,800
TAYsS 100,000& 12 1,200
= 720
= 120
Al 360
" xetst 50,0002 #12% 600
2 360
= 60
Al 180
O5. 22| 2,259
-MHE B0 A 22T =4 2,259,000& 2,259
= 1,356
= 509
Al 394
06.8 Xz 3,150
SAROIRI| Y MHIOIQMA WES XY
2 Xt 150,000 7 +3CH 3,150
= 1,800
& 320
Al 1,030
02 2244 2,212 6,320 24,108
O3. Al € ZHI S X4 2,212
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A
I‘IiH:
C}—Ol:

SN CR(EH) - NRAY - BES ]

22
J2
=2
Rl
12
==
S
Ol
0

AFEHIOIQ0H A &Hl 2eld] 2,212,000& 2,212
1,327
221
664

= MW

202 o4 4l 1,200 3,000 A 1,800
740
110
350

= HnH

01 SLHAbI 1,200 3,000 A 1,800
O&EHI0I20 A =&&8S NENH|
20,0003 x2& 152 #23] 1,200

740
110
350

= N W

206 XH = Hl 3,108 7,053 A3,945
1,934
323
851

= N W

01 =4 3,108 7,053 A3,945

O

e

u

A

+

S

010

e

Pl

0

J

He

N

O
.
=

1

o [°

,000& 1,446
834
173
439
O3 J| HEEAY RFJHI| 1,662,000 1,662
,100
150
412

= H W

—

= HnH

301 et a=s 5,590 11,560 A5,970
5,274
79
237

= HnH

10 1243 5,190 10,560 N5,370

400 000& 12 4,800
,800

W
~

OZEZAE U AZBIOIQ0HA DFOTH|
30,0002 *3% 390

234
39
17
12 JIEtR &2 400 1,000 £600
OBAR X2l 400,0002 400
240
40
120

= HnH

= NN

401 A& HIZ 2 CHYI 1,395,125 1,585,263 190,138
775,742

H
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SN gD
M RH: OlA
S Tt =

2

o
SRl MHEXR 2 (&9 HM

SNBSS - MEAY - BES 0l &k 24

=2

Rl

12
==
S
Ol
0

186,177
433,206

=

01 A& H] 1,333,533 1,505,155 A171,622

O= It RI| A (975ha)  1,176,437,000& » 14! 1,176,437
649,444
162,598
364,395
OZSXIJFRI| At (150ha) 62,096,000 * 14 62,096
34,498
8,279
19,319

= H W

= HnH

O
Hi¥
M
+
o
He

ZE X &AL A
95,000,000& * 14| 95,000

57,000
9,500
28,500
02 Zeltl 58,000 75,141 A1T7,141
O=J1RI] AE & == XIHRIIALY 2eldl
58,000, 000& 14! 58,000

34,800
5,800
17,400
03 Al 2CHH] 3,592 4,967 N1,375

O= JHFIIAME & =8X JRITAE AER
CH ol 1,238,533,000& x0.29/100 3,592

= HnH

= N W

L2 2LHRR(EX) 3,120 3,120 0
936
2,184

=

101 el 24 Hl 3,120 3,120 0

936
2,184

=

04 JIZHH 22 NHSES 3,120 3,120 0
& 2P A 2,803,000& 2,803

936
1,867
O4UEE JI22E= 2,803,000 *11.3% 317

= H

e (ExX) 7,914 11,703 A3,789
5,539

476
1,899

= H o

101 el Hl 7,914 11,703 N3,789
5,539

476
1,899

= H o

04 JIZtH 22 S E =+ 7,914 11,703 A3,789
Oogcaeld Ayl 7,110,000& 7,110

5,539
476

H o
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SN
X XH .
S Tt

el

SN CR(EH) - NRAY - BES ]

22
J2
=2
Rl
12
==
S
Ol
0

Al 1,095

O4UEE D223 7,110,000 %11.3% 804
[==]

x) 28,350 45,000 A 16,650
19,845
1,701
6,804

= H 08

401 Al HIZ 2 THYI 28,350 0 28,350
19,845
1,701
6,804

= H o

01 A& H 28,350 0 28,350
O =& ==(6.3km) 28,350,000 14 28,350

19,845
1,701
6,804

= H0e

P
o
=
1K)
HL
FA

131,567 493,190 A361,623
78,885
15,735
36,947

= H W

401 AIEHIZ 20 Y| 131,567 13,754 117,813
78,885
15,735
36,947

= Hn N

01 Al£Hl 123,663 13,754 109,909
OZX At (28ha) 123,663
-STHMAIABEER 2 (13ha) 21,108,000 * 14 21,108
12,663
2,110
6,335
-Hol =28 X2 & (10ha) 31,555,000 * 14! 31,555
18,562
5,875
7,118
SEEXNZTE (4ha) 10,000,000& 14! 10,000
6,000
1,000
3,000
-2LL 32U X8 (5ha) 54,000,000& = 14| 54,000
32,400
5,400
16,200

-& Al & AHlH] (28ha) 7,000,000 * 14| 7,000

4,200
700
2,100

02 Zeldl 7,228 0 7,228
OZxgXl £AZeltl 7,228,000 14| 7,228
5,060

= NN =z HnH = N W = HnH

= H W

H




SN g

X{ ZH -
S = -

el

22
J2

20
B
2

03 A& 201

OXZEAE ALY

=

116,435,000% *0.58/100

650
1,518

676

676

676

LHIAHNEFH R (EX)

= H W

24,000
12,000
3,600
8,400

119,500

A95,500

405 XHatE =l

= MW

24,000
12,000
3,600
8,400

119,500

A 95,500

e
(@
e rr
Qe He
SO0

O

i

Jn

=

=
0z
==
4
e

-
o
w

16,000,000 *1CH

= HnH

8,000,000 = 1CH

= H W

24,000
24,000

16,000
8,000
2,400
5,600
8,000
4,000
1,200
2,800

119,500

A 95,500

=

10,000

3,000
7,000

12,000

2,000

401 Al HI Y 201

=

10,000

3,000
7,000

12,000

22,000

01 Al Hl

OJz+ HsZxd)| &

N 10,000, 000& » 14!

=z H

10,000

10,000

3,000
7,000

12,000

A2,000

= N W

35,933
10,733

7,560
17,640

35,933

= HnH

35,933
10,733

7,560
17,640

35,933

17,972,000& * 14|

= HnH

17,961,000 =14

35,933

17,972

5,372
3,780
8,820
17,961

35,933

_49_




SA ERAS D
M AR MAUG (SN Yo/ - AE)
CHel: ALRIRFR 22 (ol ®
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
= 5,361
< 3,780
Al 8,820
MBS 2,364,137 2,042,086 322,051
= 183,373
[ 87,736
Al 2,093,028
AHS SR CH 2 1,450,652 1,398,909 51,743
101 14| 1,218,854 1,183,137 35,717
04 JIZtHM22RSES 1,218,854 1,183,137 35,717
O/FE2HAl Q124H| 968,502
-&)| 721,892
=3 42,3002 x 1069 1362 609,797
FXag 42,3002 x 106 20 89,676
ARt 42,3002 * 106 x5 22,419
-7 246,610
ez 42,3002« 106 #47 210,739
=S NES =] 42,3002« 106 +7L 31,387
AR 42,3002« 106 1 4,484
Od=sZAHXNY Clst=2 & MHALY elAd|
54,5009 x20H x40 43,600
Q4R E JI122=2  1,012,102,0002 *11.3% 114,368
OUMENGRHZAIY, M) AT 2|
959,366,0002! *1% 9,594
OXtEZAIR T2 14,840
-2 R B 110,000 x 106 11,660
- X 5,000 *106H 530
-E8 X)) 25,0002 106 2,650
O/ME2AI(CoIYRIE &S) 67,950
-1 24| 200,000 #4538 x7 & 63,000
B8 2 20A 110,000 x45% 4,950
201 L2 A 67,562 66,202 1,360
01 At22eldl 45,960 44,660 1,300
O1. et 20,800
~MEES (M) JIEHEEI 3,000,0002 3,000
—MEMY E20 OE VY ME
8,000 *8007H 6,400
~AEXRA QY AXESG A2HE F|
120,000 x20 7K 2,400
~RHEIIX=2 0ISEX(HAOIE)
2,000,000 * 14! 2,000
-AEE AR (B AOIA) 5,000,000 * 14! 5,000
-EHINGO ZX(HAOIA)
2,000,000 * 14! 2,000
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SN T
HE: A MAAS (S HS /YUY - AE)
ool AYRS R (25l &2
SN EB -GS - MBAY - BES 0 & 24 e HRE2
O4.1/=H| 1,000
-2XHTH SHE) 5,0002! 2002 1,000
O5.2 | 24,160
SHZUSUHMES HA2RXHTE) 24
7,0002 +6 % * 1802 7,560
-5 ME0Y B#XBS 22X 24
7,00024 %1208 * 152 12,600
~AHEEIBHRE 244 2,0002! 500 *43] 4,000
02 T2 21,602 21,542 60
O1.2222YLHA 2,400
-RFI| (W)BIH 248 50,0002 *30CH 1,500
SHYNLLRET EUHE A2
50,0002 * 122 600
SHEAANTY L HSGEL HIABD
50,0002 *62 300
O2. 12| 10,692
SAEUAE ZAEA AR
1, 10021%3 2 *1802 *187H 4 10,692
O3. A ZHIR K] 8,510
DINE S MENSEY KX 3,010
R 1, 70024 %800 £ 1,360
=t 3,50024 %300 £ 1,050
=TI 100, 0002 *3%5+25| 600
~MERSE REI| 42 50,0002 *30CH 1,500
ALY B4 500, 0002 #47H 2 2,000
~GEYH SEX 22 1,000,00024 #1CH 1,000
SAH2HSHBEE IR L DH2 (P
) 500,0002 x2= 1,000
202 04t 5,400 5,400 0
01 2UH0i b 5,400 5,400 0
OMELX L ANRUOIRILREE Ot
60,0002 *3% +52 63| 5,400
206 T 2 bl 73,372 72,760 612
01 T H| 73,372 72,760 612
OR&I -SWHE2l DA 50,0002 %304 1,500
OUELAY 2SREY
1,70021%2 2 *106%+1802 64,872
OUETS I 2L (HAZHINES 75)
7,000,000 7,000
301 YBrBA 43,964 55,410 A11,446
09 ZOIZR QAN 41,160 52,620 A11,460
SENELX-EICVEINIEE S 41,160
S 93,7002 %10 * 122 11,244
-S| 7,000%4 #1024 x222 #1224 18,480
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SN ST
HE: A MAAS (S HS /YUY - AE)
ool AYRS R (S5 &2)
_ _ pSNE e
SN EB -GS - MBAY - BES 0 & 24 o HRE2
= 880
= 396
Al 924
206 T2 bl 10,899 10,675 224
= 4,360
= 1,962
Al 4,577
01 T2t 10,899 10,675 224
O T B &b 500, 0002 *20% 10,000
= 4,000
= 1,800
Al 4,200
OUZXSIHYS LSO 4,4952+200 4 899
= 360
= 162
Al 377
301 BB A 1,000 0 1,000
= 400
= 180
Al 420
10 S AHAHI 2 & 2 1,000 0 1,000
OMZ0YHS FSHH DFOEl 1,000,008 1,000
= 400
= 180
Al 420
405 Xt &HE St 182,200 56,700 125,500
= 71,600
= 32,220
Al 78,380
01 It LS EH S| 182,200 56,700 125,500
OSQI2EAl SHTI2H A& 160,000,002 *1CH 160,000
= 64,000
= 28,800
Al 67,200
OJIH s MERE AL (L)
3,500, 00021 +3KI € 10,500
=2 4,200
= 1,890
Al 4,410
OJIH e MERE AAH(SE)
8,500, 00021 +1 I € 8,500
= 3,400
= 1,530
Al 3,570
OF0E 2SI LA 800, 0002 4CH 3,200
AEYT R (S 54,080 48, 100 5,980
= 10,816
Al 43,264
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SN T
HE: A MAAS (S HS /YUY - AE)
ool AYRS R (e @
_ _ HE T
SN EB -GS - MBAY - BES 0 & 24 e HRE2
201 Lur2 | 6,580 0 6,580
= 1,316
Al 5,264
02 ZZ2H| 6,580 0 6,580
O1.2223 % HMAl 6,580
SHEAAR SARIBRAAL(SAZ)
140, 00021 #47CH 6,580
= 1,316
Al 5,264
206 TH 2 20,500 23,500 3,000
= 4,100
Al 16,400
01 T2t 20,500 23,500 23,000
OMQIZ B EHINE 200,0002 *504| € 10,000
= 2,000
Al 8,000
OX&ES A8%H 2 3,500,0008 %3k 10,500
= 2,100
Al 8,400
405 Xt &HF S HI 27,000 24,600 2,400
= 5,400
Al 21,600
01 ML SEH S| 27,000 24,600 2,400
OCINE XSS ST (0IEXES) 00,0002 *10CH 9,000
= 1,800
Al 7,200
OUERUNISHE BB
15,000,000% 17 2 15,000
= 3,000
Al 12,000
o028 UNEXSHSIl 1,500,008 «20H 3,000
= 600
Al 2,400
ARIMHIAZOF Q12 A XA () 12,440 19,695 AT,255
= 12,440
301 YR A 12,440 19,695 AT,255
= 12,440
09 2R QABNI 12,440 19,695 AT,255
OUZMHIAZOF QIS FHI XA (BA2L)
1,555,00021+8% 12,440
=2 12,440
NEHESET] 228,720 326,432 A97,712
101 01214 54,278 45,946 8,332
VBIEDTEES=TP 54,278 45,946 8,332
OAlR o022l 2121l 54,5002 * 12 x602 3,270
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SN R D
HE: AAMAUS (SYHLSA/LY - HE)
el HEEESY (el &2
_ _ _ N E
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Gl o HRE2
401 Al EHIZL 2OHY| 140,812 231,656 A 90,844
01 A& HI 140,000 230,000 A 90,000
OBtEAM FUl L S| AHe} (A=20na)
17,500, 000& »23| 35,000
OsEs8 +835 ¥ U= F|
15,000, 00024 14! 15,000
OsEsY ASAE 2 BoALE 24
15,000,000& * 14! 15,000
OB A 22014 A
15,000,000& *14! 15,000
OANRE ZelAt 20,000,000& *14! 20,000
Os=sYy Z¥S &3 2 24
10,000,000& *14! 10,000
Oszadz 262 FZ4 DAY
30,000,000& =14 30,000
03 Al 2 01| 812 1,656 A844
OASE STZ2IAL AL2HH
140,000,000% *0.58/100 812
Helolsazel 187,713 40,000 147,713
101 @1 2d| 46,927 0 46,927
04 JIZtH22HEES 46,927 0 46,927
OORI0IBE HAHBHH 012y
54,5002 5% #1224 +63] 19,620
OOlRI0IBE =XITHEY o1y
54,5003 x5 H x252 *33] 20,438
OAUHRE JIR=LS  40,058,000215.2% 6,089
OOjRIOIZ Hei= Pl 130,0008*32 x23] 780
201 get2Ad| 9,250 0 9,250
02 232944l 9,250 0 9,250
O3. A& &Hl=Altl 9,250
-0j2I0IZ® KX e Fy| 9,250
P e= 1,700& 30 £ »100 5,100
oy 3,500 9 £ *1002 3,150
© =2l 200,000& *53] 1,000
206 M= 4l 8,840 0 8,840
01 =4l 8,840 0 8,840
OOlRI0I 2R SXZ2l NHTY(LQ 55)
2,000,0002! 2,000
OORIOIBR HHBLH %K PA(LEHS 3
E) 400,000 & 38 A x4T 4,800
O0RI0IBY HSREY
LS  1,700&+30 4 *402 2,040
401 Al EHIZL 2OhY| 120,696 40,000 80,696
01 Al€Hl 120,000 40,000 80,000
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2AM: RGN
M A MAUS (SHMNYSA/AH - AE)
o pEEssY (&9 HM
_ AT
2N - HE .2 (S H) - MEA A= 0] AFCH ‘Oﬂ/i\_Fo” Hns
O020l=22 dolls2m & 38X
120,000, 000& 120,000
03 AIE20id| 696 0 696
O02I0IZHEIALS Al 2 THYI
120,000, 000& *0.58/100 696
405 XH&HFE S HI 2,000 0 2,000
01 MY Z2EFH S 2,000 0 2,000
QuIFDl #2¢ 500, 000& *2CH 1,000
OEZIZO0HEHI) ¢ 500,000& *2CH 1,000
A2 H oS EHA 684,721 627,605 57,116
2 314,069
= 57,434
Al 313,218
ArelEo S A 62,096 47,529 14,567
101 2121 d| 18,836 17,569 1,267
04 JIZtHI22XSE % 18,836 17,569 1,267
Ot S el4y] 54,5002 * 109 x10 5,450
OXrEYgalis TS £ DAISHA 212l
54,5003 * 10 x10L «23] 10,900
O4ieg J|1aee=2 16,350,000 *15. 2% 2,486
201 L Et2HY| 9,780 9,780 0
01 AR 22/l 6,780 6,780 0
Ogdt=2H| 2,200
—AEHNS S LetEH| 2,200,000& 2,200
O4.1| 2 H] 1,500
-HEEY WZEXIAIY LIS 1,500
e 110,000& * 10 1,100
° OtXM of 35,000& »10=t 350
=N 5,000& * 104 50
O5.2 2| 3,080
-MHEEY o 222X 24!
7,000 *4H *11 *103] 3,080
02 E32gH| 3,000 3,000 0
O3. A& &8I S Xl d| 3,000
—SEMIZH| (THAHD1) =2 200,000 *53] 1,000
-SHEU(EINS,HFI| S) =2l
100, 000& *53] 500
-2 HEE RFRUH(ESR) 1,500& 1,000 £ 1,500
202 O 4l 2,880 2,880 0
01 2LHO HI 2,880 2,880 0
O2URMEEY L dBtYlES SHAIEFE
04 dl 60,0003 *x3H 42 x4 3| 2,880
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SN ST
HE: A MAAS (S HS /YUY - AE)
Sl AREHELH (el &2
5 o SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
206 T2t 9,400 7,300 2,100
01 HEHI 9,400 7,300 2,100
OSLYHSLM U7 4,000
BRI 300, 0002 102 A 3,000
-2 (ES%R) 10,0002 *100 4 1,000
OMEESE AN U2 (NTHHL 4F)
2,000,000 2,000
OALIRTHASY HZZAR SFU(HLR)
1, 700214250 £ *102! 3,400
401 Al &HIL 2 THY| 20,000 10,000 10,000
01 Al&H] 20,000 10,000 10,000
SUHHSLRAMY 10,000, 0002 23] 20,000
405 T+ 3 S| 1,200 0 1,200
01 A USEHSH] 1,200 0 1,200
OALSHHEY AIRMHSEI(GPS) 7
1,200, 00021 #1CH 1,200
NEELEEYIEICES 487,826 479,602 8,224
2 312,494
= 52,798
Al 122,534
101 2121t 81,733 9,620 A 14,887
= 40,866
= 12,260
Al 28,607
04 JAR22RE 24 81,733 9,620 A 14,887
OUHONE GIZYNE 1A 73,434,008 73,434
= 40,866
= 12,260
Al 20,308
OUHHE HZYRES 282
73,434,000 %11. 3% 8,299
201 Yere gt 17,000 9,980 7,020
= 12,869
= 1,241
Al 2,890
01 AtR 22|t 14,470 9,980 4,490
O1.ger+8H| 2,050
-+8H(S2H S) 2,050,000%! 2,050
= 1,514
= 146
Al 390
O4. 1= 1,500
SMHEHHE BAY 292(RYS A5 S
) 1,500,000 1,500
2 1,136

_59_




SN
X XH .
S Tt

el

I
>
X
o
o
40
5
-
=
i
>
10
rg
0x
Jo
=
z
12
20
R
121
==
EJ
¥
oy

109
255

O5. =&l 2,450

=

7,000&+2H 175 2,450
1,892
183
375

O6.gx&2 8,470

-MEsE LM Xt 770,000 113 8,470
6,412

618
1,440
]| 2,530 0 2,530
&ehhl 2,530
-XtER Sl 230,000& 118 2,530
1,915

185
430

= H W

= H W

= H W

202 04| 3,000 2,400 600
2,271
219
510

= H W

2
H
o
=

3,000 2,400 600
2 F=& 0l 20,0003 «2F +75& 3,000
2,271
219
510

O
B
o
0%
%
Of

= N W

206 X = Hl 1,201 6,514 A5,313
600
180
421

= N W
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